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5 269.8 0.000674 1.79  0.04089

10 421.0 0.001035 3.59 0.04089

20 640.2 0.001565 7.18 0.04089

\midrule[1pt]
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kk=2; [mdd,ndd]=size(dd) ;

while ~isempty (V)

[tmpd, j1=min(W(i,V)) ;tmpj=V(j);

for k=2:ndd
[tmpl,jjl=min(dd(1,k)+W(dd(2,k),V));
tmp2=V(jj);tt(k-1,:)=[tmpl,tmp2,jjl;

end

tmp=[tmpd, tmpj, j;tt]l; [tmp3, tmp4]=min(tmp(:,1));
if tmp3==tmpd, ss(1:2,kk)=[i;tmp(tmp4,2)];
else,tmp5=find(ss(:,tmp4)~=0) ; tmp6=length (tmp5) ;
if dd(2,tmp4)==ss(tmp6, tmp4)
ss(1:tmp6+1,kk)=[ss (tmp5,tmp4) ; tmp(tmp4,2)];
else, ss(1:3,kk)=[i;dd(2,tmp4) ;tmp(tmp4,2)];
end;end

dd=[dd, [tmp3;tmp (tmp4,2)1];V (tmp(tmp4,3))=[1;
[mdd,ndd]=size(dd) ; kk=kk+1;

end; S=ss; D=d4d(1,:);
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kk=2;
[mdd,ndd]=size(dd);
while ~isempty (V)
[tmpd, jl1=min(W(i,V)) ;tmpj=V(j);
for k=2:ndd
[tmpl,jjl=min(dd(1,k)+W(dd(2,k),V));
tmp2=V(jj);tt(k-1,:)=[tmpl,tmp2,jjl;
end
tmp=[tmpd, tmpj,j;tt]; [tmp3,tmp4]l=min(tmp(:,1));
if tmp3==tmpd, ss(1:2,kk)=[i;tmp(tmp4,2)];
else,tmp5=find(ss(:,tmp4) ~=0) ; tmp6=length (tmp5) ;
if dd(2,tmp4)==ss(tmp6,tmp4)
ss(1:tmp6+1,kk)=[ss(tmp5, tmp4) ; tmp (tmp4,2)];
else, ss(1:3,kk)=[i;dd(2,tmp4) ;tmp(tmp4,2)];
end;
end
dd=[dd, [tmp3;tmp(tmp4,2)]];V(tmp(tmp4,3))=[];
[mdd,ndd]=size(dd) ;

kk=kk+1;
end;
S=ss;
D=dd(1,:);
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